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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D ¢ B A Questions / s 7
i 1 1]
2050 ] 2¢os? @ 2sec’ 9 T a T e
- - e e l1+sind 1-siné
w v U 2
u=vk u=wk u=wk? u=vk If —=—=k , then : :o’—:—:kfl 1
y__w V_ W
&, - ! bl
KU KU b/u:&"l’"/ KU~ : -‘hﬂ“”f“_,.;:‘s-‘ S
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
P P T P I%Jﬂjlﬁf L;(”LMJGJ/;LU'H‘.Q 4
6 A ) 5 The measure of the external angle of a
] regular hexagon is ;
L L) w2l _,_:C,; A collection : QT_.G'M/,&)‘A-‘(&?PSD 5
Set Power set Proper set Subset of welil defined objects is called :
. q w%_)’é./ﬁ.i./rgpfc,bb‘da 293 6
4 4 = ] The number of methods to solve a
quadralic equation is ;
secantée./s | tangent ¥ /i, | cosine ¥ /i el 2 q‘i’n.cﬁ’iﬁ..ﬁ._:‘/m’vég_/’nﬁauug 7
Secant of a Tangent of a Cosine of 2 ; ircle | A line which has only one point in W
circle circle circle Stoe of a circle common with a circle is called :
(HBx+T) | (x-8)a(x-T) | (-B)si(xtT) | (xebB)i(x=T) Wi B ndnl 22 —15x + 56 | 8
()8 (eh) C7&x=8) | (+N&(-8) | (=T (x+ 8 Two linear factors of )c2 —15x+56 are :
o < 2 2
b //.,T.}_JJ =gl ,/"rfu,-‘?f’ﬁ "—xﬂ_ 15 ;‘_»-_-4.-_{?—_:'?_4__]__ 9
[dentity A proper fraction | An equation A“ﬁ!;‘; i (x+1)(x-1) (x+1)(x=1)
.2 Pl —1 110
co~ot | l-we? | ~lLw~e? | L-o-e e
L-o-o ' S Cube roots of — | are :
) : ; : "B il
AU (BUC) | (ArBYAANC) | AN (BAC) | (AUBYAALC) . bl AV(BNC)
( )|« A ) (B0 1B AU {BNC)isequalto : ;
o 5 g,':g_)me:E:.a u.s;s::de{._,ﬂ}d}f/rj (5 | 12
e 7 JEL J A pair of chords of a W
Parallel Overlapping Incongruent Congruent circl}e subtending two congruent central
angles is :
G L e bt i | B
s HE e Lesl e .
T . ) Central The spread or scattering of observations
Median Dispersion tendency Average in a data set is called :
iR g Yy e b el butatbiic:d —t |1
Third Fourth Extrelmee M;- _S Ina proportion a:b::c:d, b and
proportional proportional ) — ¢ are called :
O 1 A 7 : “:.:f‘ngL_/‘:qws’/.‘:«@ 15
B The symbo! for a triangle is denoted by
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12 2. Write short answers to any SIX (6) questions : é...w/’":’ L =ty (6)5’:..-(51( 2
(i) Define exponential equation and give an example. s JeLl s'fr’..w fJ...,ls.-»L,lwaj’ (0

5o : . 1 6 T
(i1) Solve : (Zx - 3)2 = -;— 2L G
(i11)  Solve the given equation using quadratic formula : : (’-_f-:rl_,f’a_di‘-?l.:f L'f;ﬁ&;wfc:,bw%: (iin)
2-x*=7x
(iv)  Evaluate : (1-o+0*)° S ad ()
e x=20597K X xt T2 S et W)

(v) Using synthetic division, show that x — 2 is a factor of e ST

¢,-3 1@1‘_{;&!3’9&”3:;“ L,(ujuz.’{f) (vi)
(vi) Write the quadratic equation having roots : 0, -3
(vii) Define proportion.

BE Al (viD

= - 1 e
e w F v=3 caw=2 w:r,—zfl (viii)

v
(viir) If wee i., and w=2 when v =3, then find w.
. ; I , 55 o :
(ix)} Find a third proportional to : a ~b".a-b 5(‘1”'._/1,-!/ (
12 3. Write short answers to any SIX (6) questions : éf CSHT /"' L ey (6)14'..(3 :

(1) Define improper fraction with an example. e JJL"AId{J' FAE ST
- o Sx+4 i

(i) Resolve $ —— into partial fraction. _é J J-Ip Qs w2 — 5x * 4 (11)

(x—4)(x+2) (x— 4)(J\+”)

(i) If X=¢ , Y=2".thenfind X Y bt XY In¥=2" X=¢ J1 GiD
(2a+5,3)=(7,b-4) i bsa (v

(iv) Find gandb.if (2¢+5.,3)-(7.b—4)

-él"!t’”:iﬁpflzjlydbfgj:M sk 5 M f[ (v)

(v) Ifset M has 5 elements. then find the numbers of binary relations in M.

(vi) Define a bijccti\re function. "'f...d/’ r“":)flL (vi)
‘Pknlui,?.:_.u L;ny‘Jl J:;J.wni//f"pﬁ P, :_,u:“;.')w..:aw (viD)

The marks Ul seven students in Mathematics are as follows, calculate the arithmetic mean:

1234 ‘ 51617

et |

{vii)

Studcnt No slﬁb(uf”_f’-.b

I Marks 40/ n 45 [ 60 | 74 | 58 1 65 | 63 | 49

(viil) Find the modal size of shoes &= 'J”am‘;u. j‘ls/gﬂa_ fsr /lb y’/../u' .fu;‘ s’;ir‘JJu,r, (viiD)
for the following data : 44,5 5.6,6.6 7.7.5.7.5 8 8.8 6.5,6,5,7

{ix) Define median and write its formula. -Eifurjﬁnlél_.?/‘-’.u;:Ws (1x)
12 4. Write short answers to any SIX (6) questions : @ é'_-pw AL ey (6)4?:.(3:( 4
Iz .
J-/ - W
4

: 3 ;
(1) Convert —In radians to degrees. gy S8

(i) Find 'r°,when ¢ =S52cm . §=45° 0=45° « ¢ =52em BSEe r (D

( okl -

2t )
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)
_."ér)h’méff ¥y c=8cm #tb=15¢m ¢a=17 cm U« AABC )‘l (iii)) -4
4. (ii) Ina AABC.,a=17cm.b=15cm andc=8 cm , find m~ A

(iv)  Define diameter of a circle. o IEEL N (V)
(V) Define sccant of a circle. Y N 1ot PRy TN C)
(vi) Define circumference of the circle. bl (i)
(vi) Define central angle of a circle. EE PSS L (Vi)
(viil) Define circum circle. Sy /T&f o2 (viil)

(ix) The length of each side of a ..5(:&".&!5&1-{_( 3 Jl,x’pfd'b Lcﬂé‘ /’" £ (ix)

regular oclagon is 3 cm. Measure its perimeter.

(PART -1 #152)

Note : Attempt THREE questions in all. ..q_u')U 9 /:}dlrcj? -éo[.lﬁﬁ.mﬂfrcf ur RO
But question No.9 is Compuisory.
5. (a) Solve the cquation : 2x*=9x% 4 c gL enle (D) 5
4 sk A0 1lx—6=0 e L E S s (L)
(b) Solve by using synthetic division if - ! is the root of the

4

equation 4x’ — x* —1lx=6=0
2/

ST - oo 143 g . :
4 Sergeeal i JEH (abedef#0) 25 1 ()) 6
bd +df + fb bde ’ b d f
: . ' 57

_ 5 s 143
6. @ I Z=%=F (ab.c,de f#0) then show that SFCe+ea _iace
b d f bd +df + fb bdf

o

4 (b) Resolve into partial fractions : —,3-'£i-7—— g S $s (&)
: (x"+1)(x+3)

4 B%¥2,3,5,7) #A={1,3,57,9}U={1,2,3,4,5,6,7,8,9,10 /1 (D) .7
(ANBY = A'U B JE5 47
7. @ K U={1,2,3,4,56,7,8910},A={1,3,579}and B={2,3,5,7}
then verify (ANBY =AU B’

. E : .
4 :f‘_élr:b’ﬁ.,-,/"j‘U;‘.z_z:::}/f‘u.fu“’g;iurl‘.,)lbg (._, )
(b)  The marks of six students in Mathematics are given, determine variance.

| SudentFon | V[ 2314576
| Marks 57 | 60 [ 70 [30 [907 80 [ 42

4 8. (a) Verify theidentity : cos*@~sin®0=cos?0—sin 8 cgetfale (D) 8

4 —Z:E:JM(H.//:QLL;’L‘:;{}S Jiu&_..:l‘:_{i («-r)
(b)  About a circle of radius 3.5 cm, describe a regular hexagon,
8 L) L?‘ft_,UK,J—‘LEJUJLa‘c:..}’:/:?fs;)égjl)fi"_i:&t‘ .9
9. Prove that two chords of a circle which are equidistant from the centre are congruent.
OR L

_L,,’!Z..._ﬁ,ff_{(?;(L,iﬁdl,-u:ofb;ﬁ;j...gﬁé,ﬂ} n:,‘;:r,fé».:at‘
Prove that any two angles in the same segment of a circle are equal.

273-020-I-(Essay Type)-100000



LHR-I0-GL-20

(c‘../,;;f:i;gi |

A
(u'::lf’) d‘ph.r

(2018-2020 ¢ 2016-2018 &)
MATHEMATICS (SCIENCE)

Q.Paper : II (Objective Type ) (V¥#5)-020 CAS 2 )N g
(Time Allowed : 20 Minutes) (»._:_A,f.F//,u ) 220 1 25

(Maximum Marks : 15) PAPER CODE = 7192 l5 » /‘f
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Note @ Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =y i
- e G VO L
49 43} 43 (£4) The oy Edx® —16 =0 = lsle
solution set of equation 4x> —16 =0 s -
7 1 PP 2
p . 4 1 SUr T Ll Tx? —x+ 4 = Oauuﬁfaf; =
o 3 : i If &, B are the roots of Deslsaf
7 4 7 7 2 .
Ix" ~x4+4=0,then aff is :
@, | p— ) ] =il ‘ ‘Sujd'/.f;j.?uédﬁ 3
I'wo square roots of unity are :
1 2 4 7 s et 1 x5 51158 |4
4 3 4 Find x in proportion4 :x::5:15 -
by ath e o R If ecerUinach =% 5y AR
a x b a~b o x-@ x oy @b =x.:y, then invertendo property is :
¥ T z ; oo x’ +1 6
T t h e o N T T
E:M thg g A/-h';:l‘/{ A2t (x=1)(x+2)
A constant e n improper e i
term AL IR fraction A prepe! Baction : o i -
{(x-1)(x+2)
L (SLE b e L f : et {xlxeW Ax< 101 17
Finite set Nul! set Subset Infinite set The set {x|xelW Ax<101} is :
B e tsi/A UB ;l,fm*.{._f}é’/_:"‘* BaAS |8
BuA ¢ A If Aand B are disjoint sets, then A U B
15 equal to :
U KU e L 3 J‘;LJ)‘{.?}’JK 9
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
S BEA I Lta b Sars | 10
s B TV TEN e e Tfl‘le extent I XDy U e LIS s 8
; OQuartile : of variation between two extreme
Domain - Range Average observations of a data set is measured by :
s 3z . iz )1l
30° 150° 135° 115° — radians = ; U Pl
AR M P 2
é’{?b’ bt /},}' Sz e S%Vﬂf]/zaﬂl'st;;:fc,./C/ﬁ?.Jb 12
; \ ; _ chord passing through the centre of a
Secant Circumference Diameter Radius circle js?:a?]o;gg: £ e
i . N ey Cata A T e o . 3
secant K< .is | tangent € is | cosine K /s sine K i EnSp BLI~AL e 06y LY !
Secant of a Tangent of a Cosine of a . 4 A line which has only one point in u
circle circle circle sty i common with a circle is caﬂoed 2
; - il - s f Fm
S .T/J/;/__ ;_,Fl}"'/;f. J‘U’ ;,)ijluw.i..c;us/n:'u?é.sud//(j L"‘JIJ 14
Parallel Gvertati Incons Cone A pair of chords of a circle Zunt
AIAe veriapping Acongment -ongruent subtending two congruent central angles is :
z & & = :ff...‘m,ﬂ};f"u.‘.'z__f'b._iif 5
1 § 4 3 2 Angle inscribed in a semicircle is :
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12 2. Write short answers to any SIX (6) questions : é....ui AL iy (6)4’:4.;; -
(i) Write in the standard form of quadratic equation : :a‘w&d;yq!_,wwmfuuu €Y
(x+T)(x-3)=-7
(i) Solve equation by using quadratic formula : 2 - x2=Tx ZZJP S isls LJ»JJ@»» 61))
(iil)  Solve by factorization : 5x* =15x L e SEE 2 (Gid)
_541‘11*”9»‘/&/? 9x? ~30x +25=0 =il (V)
(iv) Find the discriminant of quadratic equation 9x* —30x +25=0
(S +x®-3x+2)+(x-2) ".{»;b*o”u,r_ﬂb%arz../dwuffjo:/} (v)
(v) Use synthetic division to find the quotient and remainder, when (x +x2-3x+ 2)+{(x-2)

_4_I.xf‘juu 3L 16x7 ~-8x+1=0 adaGes (VD)
(vi) Discuss the nature of the roots of equation 16x> —8x+1=0

(viil) Find the third proportional to 6, 12 612 2;-'-’(:“’"._../1:5*’1/:”' (vii)
(viil) Define inverse variation. Ay FEu R (viid)

U¥rls 4:5 nia+3:?+a‘_f""j-,5.’£_§r:1”:ﬂgdfa (ix)

(ix) Find a, iftheratiosa+3:7 +a and 4:5 are equa}

12 3. Write short answers to any SIX (6) questions : él—v&li/‘! L ey (6){:.43; 3

(1) Define identity. )/ Tfele @)

(i1) Resolve into partial fractions : L : édﬁg.fu,/lssz (11)

(x+1)(x-3) '
(iii) Define function. e AESE GiD
X = erbusnine BT ziu S Gv)
Y= o6l ﬁldu} I 2&;
LS X AYF

(iv) If X = Set of prime numbers less than or equal to 17
Y = Set of first 12 natural numbers
then find X Y. .
ZEeBxA FB={c,d} #A={a,b) /i (V)
(v) If A={u,b}andB={c,d} thenfind Bx A.
(vi) Find a and b if (2a+5,3)=(7,b-4) Jig e+ baa (Vi)
(v11) Define class limits. _éh..af/"a».w S (vid)
(viil) The salaries of five teachers are as  -Z=( Wwdu b’vlynlf -t aund L,ru‘iflgL (viii)
follows. Find mean salary : 11500. 12400, 15000, 14500, 14800
Lol ETAL L X=12,5,8,4 sy (i)

(ix) Find harmonic mean for the data X =12. 5, 8, 4

12 4. Write short answers to any SIX (6) questions : : ér&u.& AL ey (6){;&/ 4
(1) Define radian. -:.‘:-.-E?/JJJ_‘:\-_J 1)
(i1) Convert -E radians to degree. -2.;_)”4'—‘ ;_,f-*d/fif g{iy—} (i)

(ﬁig:’u )




=

(2)
-.’i}:l’" mZB Jx c=8cm« b=15cm <a=17cm o2 AABC 1 (i) -4
4. (iii) Ina AABC,a=17c¢m,b=15cm ,c=8cm, find m~ZB

(1v)  Define minor arc of a circle. -ébéf;&,rf”inc_fr: (iv)

(v) Define secant of a circle. I (W)

(vi) Define an arc of a circle. -5..9/7JJ} Ze s (vi)
(vil) Define circum angle. Zw S st (Vid)
(viil) Define circumscribed circle. ZEy G (viid)

_g.’;r,b«‘f/(bf}';uﬁf 4 ,,f(‘ 3 u_?ﬂuugUd’ BC s AB f:u[.u';’.u)’ﬁ (1x)
(ix) If ‘E‘ =3cm, ‘ EE‘ =4cm are the lengths of two chords of an arc then
locate the centre of the arc.

(PART -1l /12 )

Note : Attempt THREE questions in all. .q.u')ﬂ 9 ﬂ}di}’c}g .é.‘.-.uzﬁammf J Ly
But question No.9 is Compulsory.

4 5. (@) Solve the equation by completing square : : 2% F d/g)ﬁf-.gp;:‘/c,bt» (2) 5

x2-2x-195=0
4 X2+ 20k +2x+Bk+4)=0 ““dil(:""..:.ﬁfg(k ;u:f{l{u'jjzci =l (e )
(b) Find the value of k , if roots of the equation are equal 43 (k+2)x+CBk+4)=0
JE+3 +yx-3 4 s AT AT
4 =— :”éupfcubvihﬂd_)dwlw&.‘ysﬁ@.ﬁ” () 6

Vﬂm - Jﬁ 3 n——
Jx+3 + \:/x—3 4

N e o e

6. (a) Using theorem of componendo-dividendo solve the equation :.

4 (b) R.esolve into partial fractions : x’+72x+l] gf WY ()
: (x+2)Y (x+3)
4 s B={d,4,7)10} A={1,3,5,7,9}.U={1,2,3,4, -—, 10} 1)) 7

(A-BY =A' UB ZEort
7. (B M U= 1.2, 374 ==, 00 ), A=§{1L3.5.39 , Bs{ 1,47 10 } then
prove that (4-B) =4 UB
4 I’5_:’r"’:f../ﬁ-c:.'v'/:fw!/u_sﬁ}ui:lfdiénwé. J/'f::’.’u:.'_vl. ,-P;.ur“_Ju; e )
L2 | . - - . -
(b) Find the variance about mean of the students, who obtained marks in
Statistics :
| Marks (1) y | 6262765 6867 48]

4 8. (&) Provethat : : P S 2cosec’d c&er (D) .8
1-cos@ 1+cosé

4 e bar P S 3 Uk Ikl (L)

(b) Circumscribe a regular hexagon about a circle radius 3 cm.

- i . l
8 -Zu.ﬂ.lﬂiﬁf!u’suc,f/m'uxd l)'-'/mé:a_/l;/lféf;:-:t‘ 9
9. Prove that if two chords of a circle are congruent then they will be equidistant from
the centre. OR :

= ¥ - 3 AT
_ujz_.vr,(f,{ﬁysundl’ur:a)’fuh’@_gﬁesl} »JE_':.::J:L"
Prove that any two angles in the same segment of a circle are equal.

274-020-11-(Essay Type)-78000




